HMANIE BT 4

DEIEMAE | HEIRE
PEIEMME - HEAABRNE , THH
EH 22120.
EmER
REITERANKEIEA.
ME LS
=88 B RET SRR RERE EH
« THEER 1.4305 22120.)o
EEHT bl
« TEEH 1.4305, R FESRMRHI Y |, EHO0RE b i — {EFE O 3 {E (LA
£ SHIETHEZRY ) .
« T 1.4305 L&
SEEEE
TR BB HER
RIENAREBIBE.
EZER

« XEE, ARoSRe N BIENE B
- IEMRER BRARD EEME

Bm
ds
-] S
WS
m 1)
o~ |
~ | ¢
wi - lock nut
- Lﬁ_l 22120.0515 — .0520 (stainless steel)

182

EEHALDER & 7E: 26.7.2024



HMANIE BT 4

DEIEMAE / 2 EIRe
HES -6/
RY ws BENE" & i
d dy ds Iy Ip Iy Iy Is F, F, max.
-0,02 = min min ~ ~
-0,05
[mm] [mm] [N] [°C] [a]
TFEH
5 M10 x 1 21 51,0 5 17 5 15 12 6,0 14 250 43 22120.0615
6 M12x 1,5 25 61,0 6 20 6 17 14 6,5 19 250 71 22120.0616
8 M16 x 1,5 31 75,5 7 26 8 23 19 11,5 28 250 144 22120.0618
10 M20 x 1,5 31 91,0 10 33 10 30 22 28,0 54 250 203 22120.0620
) et T
Bt
R~ ]F R i
d,
[mm] [mm] [¢]]

$HERI2RF 1SO 8675 (DIN 439), 7854

M10 x 1 16 52 22120.0515
@ M12x 1,5 18 75 22120.0516

M16 x 1,5 24 15,0 22120.0518

M20 x 1,5 30 32,0 22120.0520

P& FAEE )

=

L

W
EsF

BRFANSRES K BEEMENER.

HE2m2
EE HALDER & 7E: 26.7.2024


http://halder.com/tw/22120.0615
http://halder.com/tw/22120.0616
http://halder.com/tw/22120.0618
http://halder.com/tw/22120.0620
http://halder.com/tw/22120.0515
http://halder.com/tw/22120.0516
http://halder.com/tw/22120.0518
http://halder.com/tw/22120.0520

